· Hi/low reasonability limits? 

· ERCOT desires you to define the highest and lowest your unit(s) can go. 

· ERCOT’s intent is for the MP’s to submit limits that provide ”guardrails” for system out of bound limits. 
· Requesting “highest/lowest” rating under ideal conditions- not seasonal. 
· Ramp rates per MW value? 

· Ramp rate CURVE is intent – points on curve provide reasonable data for dispatching different MW’s at different curves. 
· Ramp Rate? 

· ERCOT not requesting all 5 (as listed on RARF) but requesting range/curve to cover your full operating range. 
· Purpose of reasonability limits? 

· COPS; to stop data coming in that does not make operating sense. 
· In the ‘Generation’ tab, there are different MW values for Ramp Rate. Why is this? 
· This is for the ramp rate curve.  If you are at Low Sustainable Limit (LSL), your ramp rate may be 5 MW p/min, but a higher limit may be able to ramp faster.  Once you get to the High Sustainable Limit (HSL)  you may have to ramp slower.  This is a new addition and will allow different ramp rates for different operating parameters.

· How do we handle Sub synchronous Resonance? 
· This data is not needed at this stage. 
· Are the high and low reasonability limits going to be the same as the high and low sustainable limits?

· This is a new Nodal field and represents an "Out-of-Bounds" value chosen by the RE and used by ERCOT to alarm/reject data exceeding the value. This is a reasonability/validity limit as determined by the RE.

· Is the high/low reasonability ramp up limit expressed in MW/minute?

· Yes, the High/Low Reasonability Ramp Rate Limit is the ramp expressed in MW/min.

· Why do we need multiple configurations for private networks?

· ERCOT’s intent is to determine available supply/load generation available to the system and  represents a normal ramp rate curve and is only used as an initial value but will be updatable through the MMS system.

· What is the temperature rating, is it based on seasonal limits?

· ERCOT desires your highest rating under ideal conditions.

· What is a normal ramp rate for wind, since it depends on the availability of wind to be able to generate?

· ERCOT desires the highest possible ramp rate from the resource under any circumstances (validity check only, not used for dispatch).

· Is ERCOT going to use the high/low reasonability limits for COP or for compliance?

· COPS; to prevent data entering the system that does not make operating sense.
· For private network, what are the High/Low Reasonability Limits?
· Limit would simply be the Highest and Lowest amount of power that could be injected into ERCOT from that unit (depends on unit capabilities and swing of the industrial load behind the fence).
· Combined Cycle; How many configurations allowed?
· Equal or less than number of physical units.

· Joint Ownership allowed for Combine Cycle? 
· CC will be administered by one entity.
